I—1 THEHEROKR
BSEERT (1 FEEY) IN=T7]
him (158E) Bl
ot (1388 8 1
B (16 £88Y)
EEEE IR, MX95%LLE IR, MR 95% %Ki
IR 65% Lt | MR 65%3KiE | IR 55% Ll k| TR 55%kE
A0 i 3 2 1 0
. FFeh IR EET
50,000 A3 ! XME | THBET | RESEH
50, 000 ALLE~100, 000 A ki I =&
100, 000 A LL_E~150, 000 A ki I =i =R
’ ' ! BE
150, 000 A LA \14 RILE™
BT4# (15 $8%Y)
EEEE Ik, M 80%LLE Ik, MR
MR 559% kL k| Tk 55% i 809K
A0 g 2 1 0
5,000 A3k I
_—— . RERKHEHET
5,000 ALLE~10,000 AR II g
10,000 ALLE~15,000 Ak Il R HT HA S RET
15,000 ALLE~20,000 Ak \'4 H ZE HT
i Hp BT
20,000 ALLE \' 5 AT At EHT
REFFHT

() P 22 4FFEIZERADIC X 240

57



